
 

LEARNERS SCIENCE ACADEMY Page 1 

 

Answer any three from questions 1 to 4. Each questions carries 2 marks. 

1.  AB = AD, ∠𝐴 = 60°, ∠𝐶 = 150°  A AB 

 

 

a)  ‘D’  

b)  ‘C’  

2. 

 

20, 25, 22, 32, 42, 27, 35, 27, 35 & 30. 

3. 5n + 3 

a) ? 

b) ? 

4. n  2n2 + 3n 

a)  

b)  
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Answer any 5 from the questions 5 to 11. Each questions carries 3 marks. 

5. 4 cm   65o , 78o 

. 

6. a) . 

b) ? 

7. 𝑝(𝑥)  =  𝑥2 –  4𝑥 +  3  

a) 𝑥 − 1 p(x)  

b) 𝑝(2),   𝑝(𝑥) –  𝑝(2)  

c) 𝑝(𝑥) –  𝑝(2)  

8.  ABC P.  ∠ABC = 

40o and  ∠BAC = 80o. APC  

 

9. ABC , AP = 10 cm.  BP,  PC, BC  

 
 

10.  ABCD AB = 8 cm, AD = 4 cm ∠B = 120o 
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a) ∠D  

b) D AB  

c) ABCD  

 

11.  (2, 4), (4, 7) 

 

Answer any 7 from questions 12 to 21. Each carries 4 marks. 

12.   

a) ? 

b) ? 

c) ?  

13. 

. 

a) ? 

b) ? 

c) ? 

d) ? 

14.  A , B 

OA = 6 cm.  A, B ? 
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15.  x . 

a)  𝑥2 + 6𝑥 ? 

b)  𝑥2 + 𝑎𝑥 + 16  ‘a’ ? 

c)  𝑥2 + 𝑎𝑥 + 16,   a2 = 4b  

16. C,  AD ∠C 

= 30o, AB = 4 cm, ∠A = 70o, ∠B = 80o  

 

a) ∠D= ? 

b) ∠ABD = ? 

c)  

d) BC  

(sin 70 = 0.93, cos 70 = 0.84, tan 70 = 2.74, sin 80 = 0.98, cos 80 = 0.17, tan 70 = 5.14) 

17.  

 

 

 



 

LEARNERS SCIENCE ACADEMY Page 5 

 

 

                                                       8 cm 

a)  

b)  

c)  

d)  

 

18.  

. 

  

300 – 400 4 

400 – 500 6 

500 – 600 10 

600 – 700 8 

700 – 800 4 

800 – 900 3 

 

a) 

? 

b) ? 

c) ? 

19.  A(-2, 1), C(10, 10) B. 

‘B’  A , C. AB : AC = 1 : 3  

a) AB ? 

b) B ? 

c) AB ? 

d) x   ? 
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20.  𝑝(𝑥)  =  𝑥2 + 6𝑥 + 𝑘  

a) k = -10   𝑝 𝑥  

. 

b) k = 10   𝑝 𝑥  

. 

c) 𝑝 𝑥       can 

𝑘  

21.  4 cm 

400 cm2 

 

Answer any 5 from questions 22 to 28. Each carries 5 marks. 

22.  

22o  100 m 

31o 

. 

a) . 

b) ? 

c) ? 

(tan 22o = 0.4, tan 31o = 0.6) 

 

23.  6 cm, 7 cm, 8 cm 

 

24.  10 cm 216o 

 

a)  

b) ? 

25.  (3, 4) . 

a) ? 
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b)  (x, y), x , y 

? 

c)  (-2, 1) ?  

26.  ABC , AB = 8 cm, BC = 6 cm,  ∠B= 90o 

 

a) ABC ? 

b) ? 

c) AQ ? 

d) AQ × QC ? 

27.  7, 11, 15, …  

a) ? 

b) ? 

c) 

 

28.   P . PA  P 

 AQ  ∠BAC  
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a) ? 

b) IF ∠PAC = x  and ∠PCA = y 

∠BAC = y –x   

c) ∠𝑃𝐴𝑄 =
𝑥+𝑦

2
   

29. ABC  (6) 

𝑠𝑖𝑛𝐴 =
𝐵𝐶

𝐴𝐶
, 𝐶𝑜𝑠 𝐴 =

𝐴𝐵

𝐴𝐶
 

 𝑠𝑖𝑛𝐴 2 +  𝑐𝑜𝑠𝐴 2 =  
𝐵𝐶

𝐴𝐶
 

2

+  
𝐴𝐵

𝐴𝐶
 

2

 

=  
𝐵𝐶2 + 𝐴𝐵2

𝐴𝐶2
=  

𝐴𝐶2

𝐴𝐶2
= 1 

 𝑠𝑖𝑛𝐴 2 +  𝑐𝑜𝑠𝐴 2 = 1 

This can be written as sin2A + cos2A = 1 

Similarly sin2C + cos2C = 1 

In general for any 𝑥 𝑠𝑖𝑛2𝑥 + 𝑐𝑜𝑠2𝑥 = 1 

a) 𝑠𝑖𝑛230 + 𝑐𝑜𝑠23 = …………..? 

b) 𝑠𝑖𝑛250 + 𝑐𝑜𝑠250 = …………..? 

c) 𝑠𝑖𝑛240 = 1 − 𝑐𝑜𝑠2𝑥.   𝑥 = ………..? 

d) 1 − 𝑠𝑖𝑛2𝑥 = 𝑐𝑜𝑠2 70.   𝑥 = ………..? 

e) sin A = k  cos A = ………….? 
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f) cos A = P,  sin A = …………? 

 


